GOVERNMENT DEGREE COLLEGE, SHADNAGAR

INTERNAL EXAMS PATTERN
Time: 60 mins. Max. Marks: 20
Section-A
1. Multiple Choice Questions (Marks: 1X1/2=5 M)
Section-B
2. Fill in the blanks (Marks: 1X1/2=5 M)
Section-C
3. One word answers (Marks: 5X1=5 M)
Section-D
4. Assignment (Marks=5 M)
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GOVT.DEGREE COLLEGE, SHADNAGAR,R.R-DIST
CBCS 111 YEAR 1ST INTERNAL EXAMINATION 2021

CHEMISTRY-PAPER-V

Name: Roll Number:
Group: Date:
Max.Marks:15 SECTION-I Time: 30min
Note: Answer all questions 10 x %=5M

Choose the Correct answer

1. Solvent extraction is more effective when the extraction is repeated
a) Extra solvent b) Large solvent c¢) Small solvent d)No solvent

2. What is the use of ether layer?
a) To separate organic impurities b) To separate inorganic impurities ¢) To separate fibers
d) To separate solvent

3. Solvent extraction is based on the relative of two liquids.
a) Odor b) Texture c) Solubility d) Color

4. What is the representation of distribution coefficient?
aS bH )G dK

5. Chromatography is used to separate
a)Solution b)Mixtures of compounds c) Molecules d) Atoms

6. Chromatography with solid stationary phase is called
a) GC b) HPLC c) Column Chromatography d)AlI.

7. Pattern on paper in chromatography is called
a)Chroming b) Chroma  ¢) Chromatograph d) Chromatogram

with:

8. In which type of chromatography, the stationary phase held in a narrow tube and the mobile

phase is forced through it under pressure?

a) Column chromatography b) paper Chromatography ¢) Liquid chromatography d.None

9. Which of the following cannot be used as adsorbent in Column adsorption chromatography?

a) Magnesium oxide b) Silicagel c) Activated alumina d) Potassium permanganate

10. Principle involved in Paper Chromatography




I1. Fill up the blanks 10 x %=5M

1. Write the abbreviation of LLE

2. Mobile phase in HPLC

3. Distribution Law means

4. In Gas-liquid phase chromatography, the stationary phase is composed of and the
mobile phase is made of

5. In Thin layer chromatography, the stationary phase is made of and the mobile
phase is made of

6. GC abbreviation

7. Rf Value Means

8. HPLC means

9. Principle involved in Chromatography Technique

10. Write the examples of stationary phase in column chromatography--------------=--=-==-=-m-m-—-
SECTION-III 5X1=5M
I11. Answer the following questions. Write answer in brief.

1. Write the applications of Column Chromatography?

2. What is Batch Extraction?

3. What is Developer?

4. What is Continuous Extraction?

5. What is Two Dimensional Chromatography?



GOVT DEGREE COLLEGE,SHADNAGAR

DEPARTMENT OF CHEMISTRY
[-INTERNAL ASSESSMENT FOR SEMESTER 4

TIME:30 MIN MARKS:15

GROUP:B.Sc MPC &BZC FINAL YEAR SUBJECT:.CHEMISTRY PAPER-4

ROLL NO ..ot NAME OF THE

STUDENT ... e e

SECTION I 10*1=10 marks

Choose the correct answer. Question carries 1 mark each
1. The number of unpaired electrons calculated in [Co(NH3)4]+3 and [CoF6]3- (

a) 4and4 b)0 and?2 c)2 and 4 d)0and 4

2. Which one of the following complexes show high stability? ( )
a) [Cu(NH3)4]*? b) [Cu(en)2]*?>  c) [Cu(trien)*?d) none

3. The CFSE value for a high spin d*octahedral complex is ( )
a) -0.6 b) -1.8 c)-1.6 d)-1.2

4. When d- orbital metal ion are split in energy in octahedral field,which orbitals are raised
high in energy ( )

a) dxy and dx?y?b) dx?-y2and d ,*c)dxy ,dyz and dzx d)none
5.Formation of coordination complex can be detected by ( )
a)solubility  b)PH  c) color change d)all
6.D-Glucose does not give the following test ( )
a) Tollen’s test  b) Fehling’s test c¢) Schiff’s test d) All
7. Colour of Transition metal complexes is due to ( )

a) Unpaired electrons b) Paired up electrons ¢) None

SECTION Il 1*3=3marks
Fill in the blanks

1. Write example for strong field ligand

2. Inoctahedral complexes d-orbitals split into
3. Write spin only formula for magnetic moment
SECTION Il 5*1=5 Marks




1. Draw the splitting of the d-orbitals in octahedral complexes?

2.What is paramagnetic property?

3.write any two factors effecting CFSE?

4.Draw the structure of D-Glucose?

5.Define Inert complexes?

kkhkkkkkkhkhkhkkkk



GOVT DEGREE COLLEGE,SHADNAGAR

DEPARTMENT OF CHEMISTRY
[-INTERNAL ASSESSMENT FOR SEMESTER 5

TIME:30 MIN MARKS:15

GROUP: B.Sc MPC&BZC FINAL YEAR SUBJECT:CHEMISTRY PAPER-5

SECTION | 10*1/2=5marks
Choose the correct answer. Question carries % mark each

1. The number of unpaired electrons calculated in [Co(NH3)4]+3 and [CoF6]3- ( )
a) 4and4 b)0 and?2 c)2 and 4 d)0and 4

2. Which one of the following complexes show high stability? ( )
a) [Cu(NH3)4]* b) [Cu(en)2]*? c¢) [Cu(trien)*? d) none

3. The CFSE value for a high spin d*octahedral complex is (
a) -0.6 b)-1.8 c)-1.6 d)-1.2

4. When d- orbital metal ion are split in energy in octahedral field,which orbitals are raised
high in energy ( )

a) dxy and dx*>y*> b) dx*y?> andd? c)dxy,dyzand dzx d)none
5) Formation of coordination complex can be detected by ( )

a)solubility b)PH  c) color change d)all

6. In which of the following compound 3c-2e bond is present ( )
7.In borane boron under goes the following hybridization ( )
8. is called as ( )

a) 1,3,5-tri bromo Aniline b) Tri bromo A niline c) 2,4,6 tri bromo Aniline d) Aniline tribromide
9. Among the following least basic ( )
a)Aniline b)NH3 c)CH3NH2 D) none

10.



SECTION 1l 10*1/2=5 marks
Fill in the blanks

1. spinonly Magnetic moment in [Co(NH3)6]3+ complex

2. Inoctahedral complexes d-orbitals splitinto

3. Ziegler Natta catalyst is used for

4. The relationship between

5. In B2H6 the number of terminal B-H bonds....
6. Carboranesare Boron and carbon
7
8
9

. The compound with Banana bond....
The basicity of Aminesisdueto ..

On reduction of Amides ------------------ is formed
10, ceeeeemmeeeemmeeeeeee is an example for primary amine
SECTION Il 5*1=5 Marks

1.write eqution for half mann Bromamide reaction?

2. R-C-NH2 + 4[H]---------- S

3. Draw the splitting of the d-orbitals in octahedral complexes?

4. What is paramagnetic property?

5.write any two factors effecting CFSE?



GOVT.DEGREE COLLEGE, SHADNAGAR,R.R-DIST
CBCS 11l YEAR 1ST INTERNAL EXAMINATION 2022

CHEMISTRY-PAPER-V

Name: Roll Number:

Group: Date:

Max.Marks:15 SECTION-I Time: 30min
~ Note: Answer all guestions 10 x %=5M

Choose the Correct answer

1. Solvent extraction is more effective when the extraction is repeated with:
a) Extra solvent b) Large solvent c¢) Small solvent d)No solvent

2. What is the use of ether layer?
a) To separate organic impurities b) To separate inorganic impurities c) To separate fibers
d) To separate solvent

3. Solvent extraction is based on the relative of two liquids.
a) Odor b) Texture c) Solubility d) Color

4. What is the representation of distribution coefficient?
aS bH c)G dK

5. Chromatography is used to separate
a)Solution b)Mixtures of compounds c¢) Molecules d) Atoms

6. Chromatography with solid stationary phase is called
a) GC b) HPLC c¢) Column Chromatography d)AlII.

7. Pattern on paper in chromatography is called
a)Chroming b) Chroma  ¢) Chromatograph d) Chromatogram

8. In which type of chromatography, the stationary phase held in a narrow tube and the mobile
phase is forced through it under pressure?

a) Column chromatography b) paper Chromatography ¢) Liquid chromatography d.None
9. Which of the following cannot be used as adsorbent in Column adsorption chromatography?
a) Magnesium oxide b) Silicagel c) Activated alumina d) Potassium permanganate

10. Principle involved in Paper Chromatography




I1. Fill up the blanks 10 x %=5M

1. Write the abbreviation of LLE

2. Mobile phase in HPLC

3. Distribution Law means

4. In Gas-liquid phase chromatography, the stationary phase is composed of and the
mobile phase is made of

5. In Thin layer chromatography, the stationary phase is made of and the mobile
phase is made of

6. GC abbreviation

7. Rf Value Means

8. HPLC means

9. Principle involved in Chromatography Technique

10. Write the examples of stationary phase in column chromatography---------------=--=--=-=-----—--
SECTION-1II 5X1=5M

I11. Answer the following questions. Write answer in brief.

1. Write the applications of Column Chromatography?

2. What is Batch Extraction?

3. What is Developer?

4. What is Continuous Extraction?

5. What is Two Dimensional Chromatography?






GOVT. DEGREE COLLEGE, SHADNAGAR,R.R-DIST

CBCS Il YEAR SEMISTER Il ItInternal Examination 2022

CHEMISTRY
Name: Roll No:
Group: Date:
Max marks: 15 SECTION-I Time: 30min

Note: Answer all questions
Choose the correct answer 10X1/2=5M
1. Which of the following oxidation states is the most common among the Lanthanides

[ ]
(@ 4 (b) 2 (¢) 5 (d)3

2. Reason of Lanthanide contraction is [ ]
(a)Negligible screening effect of ‘f’ orbital
(b) Increasing nuclear charge
(c) Decreasing nuclear charge
(d) Decreasing screening effect

3. [Cr(NHs)a (NOy)2] Cl exhibits [ ]
(a) Linkage, lonization and geometrical Isomerism
(b) lonization, geometrical and optical Isomerism
(c) Linkage, geometrical and optical Isomerism
(d) Linkage, lonization and optical Isomerism

4. Among the following chelating ligands [ ]
(a)NHs (b) H20 (c) NH2NH2 (d) none
5. Calculate EAN in the central metal ion in [Fe (CN) ¢]* [
(a) 36 (b) 35 (c) 34 (d) None
6. Number of unpaired electrons on Fein [Fe (CN) ¢]* [ ]
(a)0(b)2(c)3 (d) 4
7. IUPAC name of [CoCI(NH3)s]** [ ]

(a)Pentammine Chlorido Cobalt(lll) ion



(b)Hexammine Cobalt Chloride (Ill) (c) Both (d) None

8. I law of thermodynamics [ ]
(a) g=Au+w (b) AU=g+w (c) Both (d) None

9. Isothermal Process means process takes placeat [ ]
(a) Constant T (b) Q=0 (c) AT=0(d)a & c

10. Enthalpy formula [ ]

(a) H=U+PV  (b) H=U-PV (c) U=H+PV (d) None

SECTION --II

Fill in the blanks 10x1/2=5M

Hybridisation on central metal ion in [NiCl4]% is

CH3COOH +S0Cl;
CH3COOH + CH3zMgX
Ligands are called
EAN .
Relationship between Cp &Cv
Ni +4CO

Significant Figures are
. Calculate the [Cr( CO)¢] -
10. Significant figures in 200.08

© o NOU A WN R

SECTION- /Il 5X1=5M
Answer all the following questions. Write answer in brief.

1. What is Lanthanide Contraction?

2. What is HVZ reaction?

3. What happens when Salicyclic acid treated with Bromine water?

4. Write the difference between Accuracy and Precision?

5. Define geometrical isomers Give examples?



GOVERNMENT DEGREE COLLEGE,SHADNAGAR
DEPARTMENT OF CHMISTRY
INTERNAL ASSESMENT -1
SEMESTER-I MAX MARKS:15

L.write all the multiple choice questions.
1.Which of the following is not an organic compound?

A.diamonds

B. Methane
C.ethylene
D.ethyne

2.What is the maximum number of covalent bonds carbon can form?

A. One
B.Two

C.Three
D.Four

3. What is the correct general formula for an alkane?
A.CnH2n+2

B.CnH2n
C.CnH2n-2
D.CnHn
4.Nitrogen is chemically inert. Why?

A.Due to presence of double bond require more energy to break
B.Due to presence of triple bond require more energy to break
C.Triple bond requires less energy to break

D.None of the above

5.Which elements listed does not belong to group 3A?

A. Thallium

B.Carbon

C.Boron

D.Aluminium

6. Which group 3A element is not a metal?
A.Aluminium

B.Gallium

C.Boron

D.Indium




7.Which of the following represents the oxidation state for group 4A elements?
A.+2

B.-4

C.+4

D.All answers are correc

8.The electronic configuration for group 3A element is  nsz np2 °.

A.Yes
B.No
9.The molecular shape of SF4 is

A.square planar

B.see-saw

C.tetrahedral

D.bent 'T" shape

10. Which of these is the weakest single bond ?
A.P-P

B.N-N

N

. FILL IN THE BLANKS.

. SHAPE OF IF7
. SHAPE OF CH4
. SHAPE OF CyHp--------=-==mnmmmmme-
. SHAPE OF BCl;

. SHAPE of NHj3

O wWN -

3 WRITE ALL THE FOLLOWING SHORT ANSWER QUESTION.
1. HYBRIDIZATION OF CH.
2.HYBRIDIZATION OF C;H:
3.HYBRIDIZATION OF BCl3
4 HYBRIDIZATION of NH3
5.HYBRIDIZATION OF IF7
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B.Sc. 1l Yr Sem IV Internal Assessment — 1l (2021-22)

DEPARTMENT OF BOTANY
(Max. Marks-20)
SECTION -A (Marks=5M)
1. One molecule of glucose utilises how many oxygen molecules when it undergoes glycolysis. ( )
@0 (1 (c)16 (d) 38
2. Where does Krebs cycle occur in a cell. ( )

(@) mitochondria  (b) nucleus  (c) golgi complex (d) centrosome.
3. Natural auxin present in plantsis______. ( )
(@2, 4-D (b) NAA () IAA (d) IBA.
4. The hormones which resulted after the Avena curvature test. ( )
(a) Gibberillins  (b) Cytokinins (c) Ethylene (d) Auxins
5. Lack of chlorophyll in the leaves is due to the deficiency of which element. ( )
(a) Calcium  (b) Magnesium (c) Sodium (d) Silicon
6. Which hormone quickens the ripening of fruits. ( )
(a) ABA (b) Auxins (c) Cytokinins (d) Ethylene
7. The plants which exhibit Kranz anatomy. ( )
(a) ABA (b) Auxins (c) Cytokinins (d) Ethylene
8. The cells when placed in____solution show cytoplasmic contraction. ( )

(a) Hypertonic (b) Isotonic (c) Hypotonic (d) pure water

9. What are the protein catalysts which control biological activities called as . ( )
(a) Enzymes (b) Hormones (c) Mineral nutrients (d) steroids
10. How many ATP are formed from the cytoplasmic NADH . ( )

(a) 2 (b)4 ()6 (d)8
SECTION -B (Marks=5M)

1. The first formed stable product in Calvin’s cycle is

2. The primary acceptor of CO2 in CAM plants is

3. The first stable product in C4 plants is

4. The number of ATP utilized in glycolysis is

5. The respiratory quotient of carbohydrates is

6. The Photo System that takes part in cyclic photophosphorylation is




8. The element which is the main component in chlorophyll is

9. The reaction centre of photosystem Il is

10. The CO2 fixation in CAM plants is done by

SECTION —C
(a) Kranz anatomy (b) Nitrogen fixation (c) Auxins (d) Glycolysis
SECTION -D

Assighment

(Marks=5M)
(e) Enzymes.

(Marks=5M)
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B.Sc.1Yr Sem Il Internal Assessment — 1l (2021-22)

DEPARTMENT OF BOTANY
SECTION -A
1. In an ecosystem is always unidirectional. ( )

(a) Energy flow (b)Food chain (c) a&b (d)None
2. In xerosere the pioneer plants are . ( )
(a)Trees (b) Shrubs (c) Crustose lichens  (d)herbs
3. Cremocarp is the fruit characteristic fruit of the family . ( )
(a) Mimosaceae (b) Asclepiadaceae (c) Apiaceae  (d) Lamiaceae
4. The gamopetalae family which is having didynamous stamens. ( )
(a) Lamiaceae (b) Asteraceae (c) Cucurbitaceae (d) Solanaceae
5. The ‘S’ shaped syngenacious stamens are seen in the family . ( )
(a) Apiaceae (b) Asteraceae (c) Lamiaceae  (d) Cucurbitaceae
6. The family which contains citrus species. ( )
(a) Fabaceae (b) Rutaceae (c)Poaceae (d) Asteraceae
7. In this family the pollination is done by Piston mechanism. ( )
(a) Fabaceae (b) Annonaceae (c) Rutaceae (d) Lamiaceae
8. Perianthis . ( )
(a)Petals (b)Sepals (c) Stamens (d)a &b
9. The botanical name of Indian Rose woodis___ . ( )
(a) Indigofera tinctoria  (b) Dalbergia latifolia  (c) Pterocarpus marsupium
10. The translator is seen in which plant. ( )
(a) Brassica (b) Calotropis (c) Mango (d) Dolichos
SECTION -B

1. Lever mechanism of pollination is seen in the plants of the family

(Max. Marks-20)

(Marks=5M)

(d) Tectona grandis

(Marks=5M)

2. In Asclepiadee the stamens at maturity form a structure known as

3. The type of inflorescence seen in the Asteraceae members is

4. Standard and keel petals are seen in the family

5. Gaddi chemanthi botanical name is

6. The complexity of foo chains is known as

7. The plant succession occurring in a water body is called as




8. When the depth of the lake is 2-4 feet plants enter the lake.

9. In the floating plants like Nelumbium the stomata are presentin epidermis only.

10. The food chain which starts with producers is called as

SECTION —C (Marks=5M)
(a) Food web  (b) Moss stage (c) Crustose lichen stage  (d) Food chain (e) Gynostegium
SECTION -D (Marks=5M)

Assighnment




Govt. Degree College, Shadnagar

B.Sc. 1 Yr Sem Il Internal Assessment — 1 (2021-22)

DEPARTMENT OF BOTANY
( Max. Marks-20)
SECTION -A (Marks=5M)

1. In Gymnosperms name the plant which has winged pollen grains.

(a) Cycas. (b)Pinus (c) Gnetum (d) None [ ]
2. What is the state of endosperm in Gymnosperms.

(a)Triploid (b) Diploid (c) Monoploid (d) Polyploid [ ]
3. The branches which are found in the axils of scale leaves of Pinusare_

(a) Short branches (b) Long branches (c) both (d) None. [ ]

4, Mycorhizal roots are found in .

(a) Cycas. (b) Gnetum (c) Pinus (d) None [ ]
5. In which of the following endosperm is formed before fertilization.

(a) Gymnosperms (b) Angiosperms (c) Pteridophytes (d) All the above. [ ]
6. The author of the book “Die nature lichen pflazen familienis

(a) Engler & Prantl (b) Bentham & Hooker (c) Linnaeus (d) Eichler. [ ]

7. What are the perianth of Poaceae calledas___

(a) Lodicules (b) Rostellum (c) Scutellum (d) Pappus. [ ]
8. Binomial nomenclature was introduced by ____.

(a) Linnaeus (b) Theophrastus (c) Gaspard Bauhin (d) Darwin. [ ]
9. Inwhich of the following family the fruit is of cremocarp.
(a) Mimosaceae (b) Apiaceae (C) Caesalpinaceae (d)Lamiaceae [ ]
10. Which of the following possess ruminate endosperm.
(a) Fabaceae (b) Annonaceae (c)Asteraceae (d) Apiaceae [ ]

SECTION -B (Marks=5M)

1. Whose classification is based on Eichler’s classification.

2. The botanical name of custard apple is

3. The pollination mechanism in Lamiaceae is known as

4. Engler and Prantl system of classification is system of classification.

5. Standard, wing and keel petals are present in the flower of family.

6. The botanical name of neem is

7. The winged pollen are presentin

8. The book written by Bentham & Hooker is

9. The dispersal of pollen grains in Pinus is called as

10. Pinus needle shows plant characters.
SECTION —C (Marks=5M)
1. Orthotropous ovule. 2. Haplochelic stomata 3. Monoxylic xylem 4. Moulds 5. Isotype
SECTION -D (Marks=5M)

Assignment




Govt. Degree College, Shadnagar

B.Sc. 1l Yr Sem Il Internal Assessment —1(2021-22)

DEPARTMENT OF BOTANY

( Max. Marks-20)
SECTION -A (Marks=5M)

1.  Which RNA carries amino acids to m-RNA during protein synthesis .

(@) MRNA (b)tRNA (c)rRNA (d) None [ 1
2.  Who proposed “Sandwich model ”?

(a) Robertson (b) Hoffman (c) Singer (d) Davidson [ ]
3. The dihybrid ratio of complimentary genesis

(a) 12:3:1 (b) 15:1 (c) 9:3:3:1 (d) 9:7 [ ]

4. The shifting of a part of one chromosome to another non homologous chromosome is known as____.
(a) Duplications (b) Translocation (c) Deletions (d) Inversions [ ]
5. Organisms having more than two haploid sets of chromosomes are called_____.
(a) Polyploids (b) Monosomic(c) Nullisomic (d) Hypoploidy [ ]
SECTION -B (Marks=5M)

1. Chromosomes which remain condensed during interphase is called

2. Purines are

3. Monohybrid Incomplete dominance ratio is

4. Dihybrid Phenotypicratio is

5. If one extra chromosome is added to the diploid it is called

SECTION —C (Marks=5M)

1. Linkage 2.Testcross 3. Epistasis 4. Mitosis 5. Plasmid.

SECTION -D (Marks=5M)

ASSIGNMENT




Govt Degree College, Shadnagar
Internal Assessment, Department of Botany B.Sc {B.Z.C& B.Z.S.} lll year

Bio Diversity & Human Welfare

Name of the student Hall Ticket No:
Multiple choice questions 10x1/2=5M
1. refers to the protection of biodiversity for its sustainable use ( )

a)Preservation b)Conservation c) Rehabilitation d) Biotransformation

2.Which of the following is an in-situ method of conservation? ( )
a)Gene Bank b)Sacred Groves c)Cryopreservation d)Botanical Garden
3.The basic unit for conservation of genetic diversity is A )

a)Allele b)Organisms c)Population d)Biome

4. Species which protect other species and need much space are known as (
a)Umbrella species b) Charismatic Species c)Indicator Species  d) Recreational

5. _____isanintro technique fpr collection and storage of germplasm ( )

a)Thawing b)Centrifugation  c)Tissue culture d) None

6. These types of forests are found in western extent of Himalaya’s ( )

a) Alpine forest b) Moist tropical forests ¢) Montanae temperature forest  d) Subalpine forest

7. Which of the following is an ornamental shrub?( )
a)Bauhinia  b)Bougainvillea c)Pongamia d)Silver oak

8. Vit E is found in which of the following fruits ? ( )

a)Kiwi b)Avocado c)Cranberries d) all of the above

9. Which among the following is the most valuable timber yielding plants of family Verbenacaeae(
a)Indian rose wood  b)Teak c)Redsanders d) Nallamaddi

10. Which of the following fruits or nuts does not belong to family Anacardiaceae? ( )

a) Mango b)Cashewnut c)Pistacho Nut d)Banana




Fill in the blanks 10x1/2=5M.

1.Species which are sensitive to disturbances and human interference are known as

2.The seed which can be store for longer duration are known as seeds
3. are highly restricted areas for conservation of flora, fauna and landscape
4. Plants contribute about of world ‘s gross Domestic product (GDP).

5. city is also known as green city

6. Apple belongs to family

7. Ornamental plants are cultivated for --.purpose

8.Example of avenue trees.

9 Forest cover % of land in India

10are the frozen vaults meant for preserving the genetic material

Short answer questions 5X1=5 Marks

1.IUCN

2.Species diversity

3.Sacred grove

4.Pollen banks

5.Sanctuaries




Govt Degree College, Shadnagar
Internal Assessment, Department of Botany B.Sc {B.Z.C} llyear

Anatomy & Embryology Paper il

Name of the student Hall TicketNo:
Multiple choice questions 10x1/2=5M
1. Who is the Father of Indian Angiosperm Embryology ( )

a) P. Maheshwari b) R.M kapil c) Venkata rao d)B.G.L Suang

2. The sporangia in which microsperos are produced ( )
a)Mega sporangia  b) Micro sporangia c) Oospore d)Egg
3.The stark of ovule is called A )

a)chalaza b)Ferniculus c)integuments d)Ovary
4.The single cotyledon of monocot embryo is called ( )

a)Aril b)Suspensor c) Scutellum d) Caruncle

5. Ovule in which micropyle , chalaza &funiculus are arranged in straightline )
a)Orthotropous b)Anatropous  c)Campylotropous d)Circinotropous
6.Polygonum type of embryo is ( )
a)Monosporictype  b)Bisporic c)Tetrasporic d) None

7.The process of transfer of pollen grains from anther to stigma is called ( )
a)Fertilization b)Pollination  c)Embryos d)None

8. The arrangements of male & female reproductive organs at different levels in a bisexual flower is called (
a)Hetrogamy b) Dichogamy c) Protogyny d) Protandry

9.tranfer of pollen grains yhrough wing is knownas ( )

a) Entemophyly b)Hydrophyily c)Anemophily  d)Hydrophyly

10. The transfer of pollen grains from the anther of an flower to the stigma of another flower___ (

a) Cross pollination  b) Self Pollination c) Xenogamy d)None




Fill in the blanks 10x1/2=5M.

1. The angiosperms are characterized by presence of .2

The collective name for male reproductive structure is

3. The layer of cells present in inner to epidermis in anther wall is called
4. The union of male & female nucleus is known as

5.The occurence of more than one embryo in a seed is known as

6. An endosperm with uneven surface is called endosperm
7.In ovule ,the body of the ovule is bend more or less at right angle to the funicle
8.The ovules having only one integument are known as ovules

9.Production of unisexual flower is called

10. The pollen tube enters into ovule through chalaza is called

Short answer questions 5X1=5 Marks.

1 Microsporogenesis

2.Tapetum

3.Double fertilization

4.Nucellar endosperm

5.Apomixis




Govt Degree College Shadnagar.

Internal Assessment, Department of Botany

B.Sc {B.Z.C & B.Z..S.} lyear Micro Diversity of lower Plants

Name of the student HallTicket No:

Multiple choice questions 10x1/2=5M
1.Bacteria was first observed by ( )

a) A.Vanleewenhoek b) Robertson c)Calvin d) None

2. Cocci cells occurs in pairs ( )
a) Mono coccus b)) Diplo coccus c)Strepto coccus d)Sarcina
3.Flower less plants are called A )

a) Gymnospermae b) Bryophyta  c) Crytogams d)Thallophyta

4. Volvox belongs to class ( )

a) Chlorophyceae b)Xanthophyceae c)Pheophyceae d) Dinophyceae

5. Life cycle of Volvoxis___ ( )

a) Diplontic b) Haplontic  ¢) Isomorphic d) None

6. Asexual reproduction by zoospores takes place during ( )

a) Favourable conditions b) Unfavourable conditions c) Rainy season d) Summer season

7. Female reproduction structure in algae is called( )
(a)Oogonia  b) Oospore  c)Nucule d) Globule

8. Reserve food material in Ectocarpus is ( )

a) Mannitol b) Laminarin starch c)Floridean Starch d) Pyrenoids
9. Example of isomorphic alternation of generationsis__ ( )

a) Polysiphonia  b)Volvox c)Ectocarpus  d)Chara

10. Bacteria that grow in absence of oxygen are called_ ( )

a) Aerobic b)Anaerobic  c)Chemosynthetic d) None




Fill in the blanks 10x1/2=5M.

1. Algae which grow in tissue of animal are__algae.

2.Study of algae is called

3.The are concerned with storage of starch
4, are endophytic algae living in roots of Cycas

5. The Oedogonium filaments that bears andro sporangia and oogonia are called as

6.Charaisa algae

7. Ectocarpus shows . Alternation of generations

8. Female reproductive structure in Polysiphonia is

9.The life cycle of Charais

10. derive energy by oxidation of reduced Sulphur compounds

Short answer questions 5X1=5 Marks.

1.Autotrophic bacteria

2.Coenobium

3.Cap cells

4. Plurilocular sporangia

5.Dwarf male
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